Math 100 Quiz #8 Name:

1. Give an example of an algebraic expression that is a trinomial.
{rmust have 2 unlike ferms)

2yt o X+ 5 fer Cxo_mPle
2. Inyour answer to #1, what are the variables?
X

' /8/ In your answer to #1, what are the constants?

4. Inyour answer to #1, what are the operations?

add i“Hcr\
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5. Solve: 5 + i
4

5+1 5+2 =7
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6. Solve:7+(8-2)*2=

T+ (6)=2=
T+ 2=
19

7. Simplify as much as possible: 21 - 14x +Z\¥ +8 +3y -2x=

29~y + IO«d

8. Simplify as much as possible: 4x(2x + 3x) + 5y(5y + 3y) =
ly (Sx) + Sj (%j):
Zox* + %Ojﬁ



